HRAFE 1501 CHAIEAI )

& i3 VR 260 HEE
T *= &S 2l 5 14000257 2l
T = 4 PN T g S R Y ] A

- KT UM% 1450 L=600) Hi THIEE L=80.0

U T (300 L=600) i THIERE L=1.2m




A 150 1

EXIES LD

2 6 4

1400027 3%

B 1 3 6 SR HERHERE T3

T F M =

F—R—L AT+ + +1224m’

X[ T

......... 1£Q




A 150 1

EXIES LD

K 264F L

#14000275%

T L2 % | P ZEE R 2 AN BE R & Z o fth TR
W
a7 U — b BESHERE 2BEEE (57)
- SpEERIEKETSE S X
T H M = MBS 2 —2
- Pk T8 —3K
JEEEERIELRS 7K —3

- T DM —3




A 150 1

EXIES LD

K 264F L

#14000276 %

HZaE 2 R BRI KSHE T 5

T F M =

W

a7 U — b BESHERE 2BEEE (57)

- B EKKETSE  —X
AL At HE Y- MK
FEMPE E T35 WA (SI-M2) —3K
M AN [ 7 T (s-M2) —3k




